L) ([Caae dee: A &
1o e SRER 01 ‘
>— IR O B AL D B LR 2%

JepTuzagrEzILES. OTVFEARZTYELE S, )

cm?3
m3 L mL

© im=[ 1000000 Jems 1
110|0[0|0]0]|0

e ] T
@i= 1000 Jom B
| 100 Cc)m3
e ] T
©) ImL=[ | ]cm3 ImL
| 3
m3 L canE’
@ |m3=[ ] L Im3
1{O]0|0
L
s ] T
® |000cm3=[ ]L ' 0 0 Q,
|L

@ pIsE % @“@?“3@3%@%@@



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm?3

© i1mi= 1000000 Jem I
|/0|0|0]0[0|0

cm3
cm3
m3 L mL
@) 3L=[ ] cm?3 3L
3/ololol
cm
cm3
m3 L mbL
Q 2cm3 =[ ] mL 2 |
cm
mL
cm3
m3 L mL
@ | m3=[ ] L I
m3
L
cm3
m3 L mL
@2000|_=[ ]m3 2 00 OL

@ W % @“@?“5@3%@9%@



S (@R
{ o< SEABRET 00

S (OF--EA)): 5[

BIZE : A H
23

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

® 2mo=| | em
® 1000cm?= | I
® 2ml=| | em
® 3mo= | |
© 2000 = | | o

> iz

cm3
m3 L mL
2
m3
cm3
cm3
m3 L mL
| 000,
cm
L
cm3
m3 L mL
2
mL
cm3
cm3
m3 L mL
3
m3
L
cm3
m3 L mL
2000,
cm
L

HITBIBRYAY



L) (Ene Acs: A A
-Qﬁ SEHRDE 00 as

S (OF--EA)): 5[

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm3
m3 L mL
O 3m3= [ ] cm3 3 .
m
3(0/0/0(0|0 Qm3
cm3
m3 L mL
@ 2L= [ ] cm?3 2L
cm3
cm3
m3 L mL
QD | mL=[ ]cm3 L
cm3
cm3
m3 L mL
@ 2m3= [ ] L 2
m3
L
cm3
m3 L mL

@ R %ﬁﬁgﬂﬁéfﬁié§@?ﬂbﬁi



&) [oee Bics A g
{ o< SEABRET 00

S (OF--EA)): 5[ %3

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm?3
m3 L mL

® 3m=| 3000000 Jem 3
3|0(0/0[0|0|0

cmpP

cm3
m3 L mbL
@5000|_=[ ]m3 500 0
cm
L
cm3
m3 L mL
@ 25mL = [ ] cm3 2 5
mL
cmpP
cm3
m3 L mL
@ 6m3=[ ] L 6 .
m
L
cm3
m3 L mL
@2000L=[ ]m3 2 00 OL
m3

oxn HITBIBRYAY



L) [(Eape qee: R &
{ol<  Smeam o \
>— iR B4 ) BAIR 2FA

(JiepTirEAHEBIILLS. OTVFERARTYEL LS, )

cm3
m3 L mL
D 5m3= [ ] cm3 5m3
cm3
m3 L mL
@ 12000cm? = [ ] L 12000
cm3
m3 L mL
©) 23mL=[ ] cm3 2 %L
cm3
m3 L mL
@ 4m3= [ ] L 4
m3
cm3
m3 L mL
® I5000cm3=[ ] L ' 500 Cc)m3

© EH % @““5@‘“5@3%@&:@



L) (G qee: R &
{olh<  Saca o ‘
>— iR B4 ) BAIR 2FA

(JenTuzamrEzLL S,

cm3
m3 L mL
® 2m3= [ ]cm3 2 ;
m
cm3
m3 L mL
@ 40L= [ ] cm3 L OL
cm3
m3 L mL
@ 6cm3 = [ ] mL 6 3
cm
cm3
m3 L mL
@5000L=[ ]m3 5000
cm3
m3 L mL
@SIOOOcm3=[ ] L 3100 Cc)m3

@ EE % @“@?@@%@k@



L) ([Caae dee: A &
[ smpesan(s)| ..
>— IR O B AL D B LR 2%

(JenTuzamrEzLL S,

cm3
m3 L mL
O 6m3= [ ]cm3 6 ,
m
cm3
m3 L mL
@ 20L= [ ] cm3 2 OL
cm3
m3 L mL
@ Ilcm3= [ ]mL I I |
cm
cm3
m3 L mL
@ '7m3= [ ] I_ l7m3
cm3
m3 L mL
® 8000cm3 = [ ] L 800 Cc)m3

on HITBIBRYAY



L) (G qee: R &
{olh<  Saca o ‘
>— iR B4 ) BAIR 2FA

(JenTuzamrEzLL S,

cm3
m3 L mL
O 4m3= [ ]cm3 4 ,
m
cm3
m3 L mL
®6OOOOcm3=[ ]L 6 O O O Qns
cm3
m3 L mL
®I5mL=[ ]cm3 | él_
cm3
m3 L mL
@ 2m3= [ ] L 2m3
cm3
m3 L mL
® s000L = | | m: 500 0

© EH % @“@?@@%@k@



L) ([Caae dee: A &
o T e
>— IR O B AL D B LR 2%

| [ JichtrzageEszlsed,

® 4mi=| | em
2 1000 | J ms
® 200mL =| | cme
® 1om3= | |
® 3000L = | J ms

2 ROMIKOEBIIFEMITT L, £/, GALTTH,

- ( L)

m3)
© L %% @i g @i 35'@3%@%



&) (Ene Bics A g
{ o< SEABRET 00

S (OF--EA)): 5[ ZF A

| [ JichtrzageEszlsed,

® 4mi=| | em
@ 3000cm?= | n
® 30mL= | | em
® lemd= | | me
® 2m3= | | L

2 ROLGCOHEIAmITT b &7, FAILTT D

i ( m3) - ( L)

@ LI %% @i g @i 35'@3% @[‘M



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

| [ JichtrzageEszlsed,

® 8mi=| | em
® 2000L = | ] m:

® 80000cm? = | | L

® 600cm? = | | e

® 20L= | | ems

2 ROLGCOHEIAmITT b &7, FAILTT D

%7z ( m3) - ( L)

@ LI %% @i g @i 35'@3% @[‘M



&) (Ene Bics A g
{ o< SEABRET 00

S (OF--EA)): 5[ ZF A

| [ JichtrzageEszlsed,

® 2m3= | | em
® 15mL - | J oms

® 80000cm?= | |

® so0oL | J ms

® 20m3= | |

2 ROLGCOHEIAmITT b &7, FAILTT D

i ( m3) - ( L)

@ LI %% @i g @i 35'@3% @[‘M



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

| [ JichtrzageEszlsed,

7w | o
® 5000cm* = | |
® ooL= | | ems
® 20000 = | | ms
® 50cm = | | i

2 ROLGCOHEIAmITT b &7, FAILTT D

:1.5m

%7z ( m3) - ( L)

@ LI %% @i g @i 35'@3% @[‘M



< %@@ﬁ . B¥EBOA! Q B

AR B0 B 23z

| [ JicpcuzamsEsz Lo, (5204)

© 8men ) e
® somL= | J cme
® 6mon | | .
® 20000 =| J

2 ROIEOEBIEEAMITT D, T/, ALTTHL, (B1045)

® HEBHL % @i g @i @@3% @k@



%@@ﬁ . @ DX EBOL! Q B

AR B0 B 23z

| [ JicpcuzamsEsz Lo, (5204)

® gme=| | ems
@ 000L - J m

® azmL= | | ems

® 70000ems = | |

2 ROIEOEBIEEAMITT D, T/, ALTTHL, (B1045)

____________________ - 1 1.5m

® HEBHL % @i g @i @@3% @k@



&) [oee Bics A g
{ o< SEABRET 00

S (OF--EA)): 5[ %3

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm?3
m3 L mL

® im=[ 1000000 Jems |
110/0/0/0/0/0

2 ] T
@i= 1000 Jom N
110/0/0Q,
e ] T
Q | mL=[ | ]cm3 ImL
L
m3 L canE’
® m=[_ 1000 o 1
| O[O0 OL
2 ] L
® |000cm3=[ | ]L | 00 Q,
I L

@ PIfE EX %% @“@?@@3%@?%@



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm?3

® 1m=[ 1000000 Jem I
110/0/0/0(00

cm3

= ! i
@3 3000 Jem 3
3/00/0]
- ] i
©) 2cm3=[ 2 ]mL %ma
mL
- ! i
®im=[_ 1000  Jo 1
110/0/|0
L
- ] T
@2000|_=[ 2 ]m3 2 00 0
24

@ W EX % @““5?“5@3%@%@



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm?3
m3 L mL

® 2mi= 2000000 Jems 2
2/0/0/0/0(0|0

cm3

cm3
mL

@ 1000emi=| | L | 000

cm3

cm3

mL

cm?3

cm?3
m3 L mL

cm?3

L mL
@2000cm3=[ 2 ] L 200 0,
2,

@ HeR EX % @“@?“5@?»@%@



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm?3
m3 L mL

®3me= [ 3000000 Jems 3
3/0/0/0/0/0/0

cm3

@2e= 2000  |cm 2.

@ W EX % @““5?“5@3%@%@



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

(JiehTiRrEABHEBIILLES. OTVFRRTYEL L. )

cm?3
m3 L mL

® 3m=| 3000000 Jem 3
3/0/0/0/0/ 0|0

cm?

s ] —
@5000|_=[ 5 ]m3 500 Qm3
5L
s ] —
@25mL=[ 25 ]cm3 2 ?L
215]
s ] —
@em=__ 6000 L 6
6 000
s ] —
@2000L=[ 2 ]m3 2 000
2|

® EH & %% @“@?@@3%@?%@



&) ([EaRe Acs: B @
(ke S0e0R 00 ‘
>— IR O B AL D B LR 2%

(JiepTirEAHEBIILLS. OTVFERARTYEL LS, )

cm?3
m3 L mL

®sme= [ 5000000 Jems 5
5/0/0/0/0/0/0

cm3

cm3
mL

® 12000emi= | 12 L | 2000

cm3

@23mL=[ 23 ] cm3 2 3

mL

cm3

cm?3
m3 L mL

@ams= 4000 | 4

cm?3

L mL
® I5000cm3=[ | 5 ] L | 500 0,
| ' 5

L

®© TH B %% “@““5?“5@3%@%@



&) [oee Bics A g
{ o< SEABRET 00

S (OF--EA)): 5[ %3

(JenTuzamrEzLL S,

®2me= [ 2000000 Jems 2
2/0/0/0/0/0/0],
@aoL=| 40000 |cms 4 0O,
4/0/0/00]
® 6cm3 = [ 6 ] mL ém3
o
@soooL=| 5 | m 500 0
5.
©3IOOOcm3=[ 31 J L 31000,

@ EE BX %% @“@?@@3%@?%@



L) ([Caae dee: A &
[ smpesan(s)| ..
>— IR O B AL D B LR 2%

(JenTuzamrEzLL S,

®6m2= [ 6000000 Jems 6
6/0/0 0000
@20e= 20000 |em 2 0
2/0/0/0/ Q|
©) IIcm3=[ | | ]mL | cI:m3
L
@mms=| 7000 o 7,
7/0/0/0,
®8oooem’=| 8 | L 8 00 Q,

3

L

® TH BX %% @““5?“5@3%@&@



8-

ELRRP

STHR@EG 00

S (OF--EA)): 5[

(JenTuzamrEzLL S,

® am3= | 4000000 | ems

@ 60000cm? = [ 60 ] L

©) I5mL=[

@ 2m3= [

| 5 ]cm3

2000

.

BiCH : A H
23F7

m3 L Crrr:]lf
4

3

4/0/0/00/0|0

cm3

m3 L Crrr:]lf
6000 0.
60
m3 L chIf
5
I §m3
m3 L canE’
2,
2/0/0/0
m3 L Cr:lnlf
5000
5

HITBIBRYAY



CRRY <t
mgean o) o ¢ F

S (OF--EA)): 5[ %3

| [ JichtrzageEszlsed,

® am3=| 4000000 |cm:

®ZOOmL=[ 200 ]cm3

@ om=| 10000 | .

2 ROULEDOHIEIZMAmMITT A, T/, @ALTTH,

i1.5m

X: 6X4X1.5=36 (m3

sx ( 36 - ( 36000 L)

© HEF EX 3%- @i @“%%&“M@@



S (OF--EA)): 5[ ZF A

&) (Ene Bics A g
{ o< SEABRET 00

| [ JichtrzageEszlsed,

® am3=| 4000000 |cm:

@ 3000cm3 = [ 3 ] L

® 30mL = [ 30 ]cm3

® Ilcm3=[ | | ]mL

®2m= | 2000 |

2 ROLGCOHEIAmITT b &7, FAILTT D

jZm

®: 4X0.5X2=4 (my
s ( 4 m3) - (4000 L)

@ b B % @i g ? 5@3% @h@



BV Hict : A H
SRR @DEIE 00

S (OF--EA)): 5[ ZF A

| [ JichtrzageEszlsed,

® sm3= 8000000 |ems

@ 80000cm3 = [ 380 ] L

@® 600cm? = [ 600 ]mL

®20e=[ 20000 |em

2 ROLGCOHEIAmITT b &7, FAILTT D

X: 4 X | X0.5=2m3
£z ( 2 m3) - (2000 L)

© H ki B % @i g @i 5@3% @k@



BV Hict : A H
SRR @DEIE 00

S (OF--EA)): 5[ ZF A

| [ JichtrzageEszlsed,

® 2m3= [ 2000000 | ems

@ I5mL = [ |5 ]cm3

@ 80000cm3 = [ 380 ] L

@6000L=[ 6 ]m3

®20m=| 20000 |

2 ROLGCOHEIAmITT b &7, FAILTT D

£ ( 6 m3) - (. 6000 L)

@ HEF &EX 3%- @i @“%%&“M@@



BV Hict : A H
SRR @DEIE 00

S (OF--EA)): 5[ ZF A

| [ JichtrzageEszlsed,

® 7m2= [ 7000000 | cm?

@ 5000cm? = [ 5 ] L

@eoL=| 60000 |cm

® 50cm3 = [ 50 ] mL

2 ROLGCOHEIAmITT b &7, FAILTT D

1 1.5m

x: 4 X3 XI|.5=18 my
s ( | 8 m3) - ( 18000 L)

® i B % @i g @i 5@3% @k@



EHRD HEEBOL! Q
SRR 00

AR B0 B 23z

Th

| [ JicpcuzamsEsz Lo, (5204)

® sm3= 8000000 |ems

@) 30mL=[ 30 ]cm3

®emi=| 6000 |

2 ROUKOKBEIIFEMITTHL, T/, GALTTH. (BI10S5)

X: 4 X2.5X | =103

£ ( 0 m3 - 10000 L)

® HEHL BEX %% @i g @i 5@3% @ hz



%@@ﬁ . @ DX EBOL! Q B

AR B0 B 23z

| [ JicpcuzamsEsz Lo, (5204)

® ami=| 9000000 |cm

@ 42mL = [ 42 ]cm3

@'7OOOOcm3=[ 70 ]L

2 ROUKOKBEIIFEMITTHL, T/, GALTTH. (BI10S5)

____________________ - 1 1.5m

X: 2X3XI1.5=9 (m3

£ ( 9 m3) - (. 9000 L)

® HEHL EX %% @i g @i %’@3% @ h@



	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8
	スライド 9
	スライド 10
	スライド 11
	スライド 12
	スライド 13
	スライド 14
	スライド 15
	スライド 16
	スライド 17
	スライド 18
	スライド 19
	スライド 20
	スライド 21
	スライド 22
	スライド 23
	スライド 24
	スライド 25
	スライド 26
	スライド 27
	スライド 28
	スライド 29
	スライド 30
	スライド 31
	スライド 32



